Green Thumb

Stacey Eck

Difficulty: Easy
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Y ou are presented a postcard with aword search and a hangman with lines and numbers

below it
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you come up with a total number for each letter (L

The Hanging Gardens of Babylon

Petunia
Snapdrago
Sunflower

Peony

Tulip
Violet

Orchid
Pansy

Solve the word search (13 across and 11 down) Count the letter frequencies, and this will
Rose

come up with the final answer.
By counting the letter frequency
L

etc)

Honeysuckle Thistle

Cornflower
Daffodil
Delphinium
Foxglove
Geranium
Heather
Hyacinth
Lavender

Begonia
Carnation
Daisy
Dandelion
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The answer is Landscapers



